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ISR
Thread

ISR

SlotThread
J+4—ILRER
-numaA:int

-numB:int

-numcC:int
-kakeTen:int
-zanTen:int
-message:String

AV RERE
+SlotThread():
+run():void
+rolling():void
+result():void
+calc():void
+setKakeTen(k:int):void
+setZanTen(z:int):void

# :protected

-:private
+:public
[(RITOSAERE]

@ SlotThreadMain.java

public class SlotThreadMain{|

public static void main(String[] args){!

SlotThread st = new SlotThread(]

st .setKakeTen(10);

st.setZanTen(100):
st.start();

1
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public void run(){!
int 1=0;
Hhile(true)[

if(zénTen<=U){l
System.exit(0); !

1

P44
¥

1l

public void rolling(){!
numb=new java.util.Random().nextInt(10)%10; !
numB=new java.util.Random().nextInt(10)%10;
numC=new java.util.Random().nextInt(10)%10;!
System.out.printf("¥b¥b¥b%d%d%d” ,numA ,numB,numC) ; |

public void result(){!
System.out.print(”
System.out.print(numB+":"); |
System.out.print(numC+” ");l
System.out.print(zanTen);
System.out.println(message] l

+numA+”:");L

|
public void calc(){!

int matchi3=10;!

int matchi2=2;!

message= ;|

|f((numﬁ——ﬁumB)&&[numB——numC))[ |
zanTen=zanTent+kakeTen*matchi3; |
message= VerryGood " ;|

lelse if((numA==numB)||(numB==numC)| | (numA==numC)){ !
zanTen=zanTen+kakeTen*matchi2; |
message= Good ;|

lelsell

| zanTen=zanTen-kakeTen; |

|

} o

public void setKakeTen(int k) {!
this.kakeTen=k;l
|

public void setZanTen(int z) !
this.zanTen=z; |

H
H
(R ~5E1T]
CZFTTmMaing S AZEITI D E10000EFH EER T D EFE5RD
STERERMAE N ENERULET,

R DR

@ SlotThread.java®DZ E &P




public void run(){!

int i=0;|
while(true){!
try{ /koko |
rolling();!

Thread.sleep(70); //koko #2425 F FEZiH{HF3 ]
] catch (InterruptedExceptlon ie)

System.out.printin("¥nBlD 2L » FO&E|YATFHhFELET)

calc();

result();
System.out.printin(™");!
if(zanTen<=0){!

} System.exit(0);!

@ SlotThreadMain.javadDZ E &P

public static void main(String[] args){!

SlotThread? st = new SlotThread2();!
st.setKakeTen(10); |
st.setZanTen(100); !

st.start();!

while(true){ / fkoko |

String s=new java.util.Scanner(System.in).nextLine():

if (s.equals("")){ //kokol
st.interrupt(); //koko!

1 //kokol
Y 1} //kokol
(7R bEE1T]

//koko |
//koko
//koko |
/{kako |

//kokol

CCETTmMaNISRAZRITIBDEVST—2F—D T TEHRFOLEERN
EFEDOHBSAOtERENE D ESNEBREUET.

RO DAL

public void run(){!

int i=0;!
while(true){!
tryl //koko |
rolling();
Thread. sleep(?O) llkoko 1 RS FHEFF(FIFAI

] catch (InterruptedExcept|on ie) |

System.out.println("¥nBld 2L v KHSBYRAFTFhFLE");

cale();

result();

System.out .printin("");!

if(zanTen<=0)[!
System.exit(0);!

//koko |

//koko

//koko |
//koko |

H
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//
i

try [
System.out.printIin("[return]®&H T F@EﬁL,ﬁf?r Tl

System.out.printIn("# (BT F 10 LN ABDLTLIEZ W)L
System.out.print("BHT =@ A 1=1055,2=205 ‘_[]:5 3=305, 4= 4U£ ):l
\ﬁiiﬂﬁi??ﬂi\*ﬁﬁkjwé =100 002 " ): |

System.out.print("5= 5[
Thread.sleep(10000);
}catch(InterruptedExceptlon elf!
System.out.printIn("¥n");!
e.printStackTrace();!
System.out.printin("U 82—+ —HFITTIIZAD");!

1
//////{{/////////////////////////////////////////////////////////////////////\
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@ SlotThreadMain.javadDZ E &P

public class SlotThread3Main{!

public static void main(String[] args){!
SlotThread3 st = new SlotThread3();!
st .setKakeTen(10); |
st.setZanTen(100); |
st.start(); |
while(true){!
String s=new java.util.Scanner(System.in).nextLine();

/////////////////////////////////////////////////////

if (s.equals(”17)){st.setKakeTen(10);]
if (s.equals(”27)) st.setKakeTen(?UJ;:;
if (s.equals(”3”)){st.setKakeTen(30);}!
if (s.equals(4")){st.setKakeTen(40);}!
if (s.equals("5”)){st.setKakeTen(50);}!
if (s.equals(”67)){st.setKakeTen(60);}!
if (s.equals(’7")){st.setKakeTen(70);}!
if (s.equals(787))[st.setKakeTen(80);}!
|f (s.equals(797)) St.setKakeTeanD);_'

f (s.equals("07)){st.setkakeTen(100);1!
f///////////////////////////f/////f//////////////////
if (s.equals("")){!

st.interrupt();!

}
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[V —X—R] SlotRunnable.java

public class SlotRunnable implements Runnablel!

|

public SlotRunnable(){}!

"lpublic SlotRunnable(int kakekin,int zankin){!
"I this.kakekin=kakekin: |

this.zankin=zankin; !

1

1 int numd,numB,numC; |
I int kakekin,zankin;!
4 String mes;|

%4

¢l int matchi3=5;!

: int matchi2=2;|

3

13}1

public void run(){J
while(true)|!
tryf!

7 numd=new java.uti!|.Random().nextInt(10)%10; |
18 numB=new java.util.Random().nextInt(10)%10; |
8 numC=new java.util.Random().nextInt(10)%10;
2 System.out.printf( " ¥b¥b¥b%hd%d%d™ ,numi,numB,numC); |
21 Thread.sleep(80);!

£ } catch (InterruptedException ie) [!

& System.out.printin("¥nBld 2L v EDSEUATFNRFELRET);
2a cale();!

& System.out .print (numd+”:") 'l

2 System.out .print(numB+": )

H System.out.print(numC+™ 7);

= System.out.print(zankin);|

;: | System.out.printin(mes);!

# if(zankin<=0){!

1 System out.printin("BETETRTLET); !
" break;

34 }!

35 try [!

b System.out.printIn("[return]X I3 SFRICERBL FITEN);
o Thread.sleep(5000); !

4 Jcatch(InterruptedException e){!

wLL e.printStackTrace(); !

a0 }l

4 ]l

a2

43 }|}|

“lpublic void cale()[!

R

48 |f([numA=:numB]&&(numB =numC)){ |

b zankin=zank intkakekinxmatchi3: |

e mes=" VerryGood ;|

@ lelse if((numA==numB)| | (numB==numC)|| (numd==numC))[ |

w zankin=zankin+kakekin¥matchiz; |

- mes=" Good ;|

21 lelsel!

z: l zankin=zankin-kakekin; |

55 |

*®public int getZankin() {!

i return zankin;!

S |

59 }!




[V —X3—R] SlotRunnableMain.java

bublic class SlotRunnableMain{!

public static void main(String[] args)%'

SlotRunnable st = new SlotRunnable(100,500); !
Thread com = new Thread( st );!
com.start();|
while(st.getZankin()>=0){!
String s=new java.util.Scanner(System.in).nextLine();!
if (s.equals("")){!
com. interrupt():!
if(st.getZankin()<=0){break;}!



